Bzdr<F 112 FEr<FY 550~ F4 J3348
RRLIEE < S

B T RETN Sk » s
5 Q- s x5t it %

AAHIL

- “HE o A4 A 0 X 8 A o

3
1. TAwEEy=f(x)= x;C—l 2 (X,Y)=(0,0) %} T 252
| | | [ 14
: : i1 14 | [ \
I I | 1y [ Fl ls
AV RE B
| | {1 T/
' ! LI K e I
i | : ',I \ 1 I
N ! (B) il e ©) il |
'Ii Il, .
[ ol s
- i
I |
| |
b <1
I/ V1
1f I
.
@D o (E)re b+ g 2t o
2v3 .,
2. - Fé‘ 1\sm 50° cos 50°L e
(A)7 (B) 8 ©)9 (D) 10 (E) m+ g2to

SN BRI A 0 £ 164 o
3. - AR a2+ A+ Dx+13i= 0 fiEx o B i=V-1 -

;@zﬁa’%gfzﬁao

4. ACM 4 T - 9 thdk v F X R0 (CR)? 2 -

l(m n)l
5. ¥A,B2:3 5% > 2 P(A) =05 P(AUB) =08 #P(B)z §# 1 -

o . oy . 3Xx%+Ax+A+3
6. F[#r3 |7 i i #A - Bi# B8 lim 248
xXx—>—2 X%2+x-2

:B:,\._“_ o

* %

F’_*

W

LR A B HB T G
¥ 13 F



?OREAE
S NHER o EEES A > X T A
7. W RWFF4x? + 9y? = 361 B Mx + 2y + 15 = 0ehd EFEHE o
(A) 2v5 (B) = (C) 45 (D) 0

(B) vk g

o~ SAEAL AR 0 R 204 o

1+x x<1 { xSl,

8. & gtf(x)_{ > 1 > 8(x) = 3—x, x>1

r

(A)lim f(g(x))# % & -
(B) lim f(g(x)) % & -
(O lim g(f(x))# ¥ &

(D) lim (£ (1)) & °

(E) ] l' Pg '5 o

x—y—z=3
9. M frix+y+3z=1 sz, T
S5x+y+az=0>

(A)E> 2% 2> Pla+7-
B)fa=6 RI>AEiET - f& -
(C)F Ao @fz > Blb+9-
(D)&b #9 > B> 42l & % o

\_N
o]
=
)
ke
=
i

1 -1 -1
(E) &> ey 2% 2z pli77)5% [1 1 3 } =0-
5 1 a

I ~HE B A4 0 2354 o
105 bt} B0 83 Sl h s(6) = f)(—x2 + 6x)dx,0 < £ < 10 »

Bt o ot gad R APFR0<t<aifs] * APFRa<t<10
R Faz @& o
% 23|



11. Pf{a+ﬁ——’ F(A+tana)(1+tanp)2. & o

12, % 88 730 % T resks 1120972593 — 18 - 3 %ﬁg{ B - 3 A4 T A
3000 s#cF 0 B E 7 SR 0 E R 0 A4 KD
(41 * log2 = 0.3010)

1382 % S lief(x) = x° +ax? + bxtx = L) 1B -0 2w
y=f)Exih T E 2P RB LR REBRAxyz: BF P Mxdhiadg o
SR AL AE -

14, Bt =0 P 3 B e — B BRA(9,10,19) 11 i R Dy = (—1,—1,-2)i #: »
¥ - R B RA(=17,2,67) 1 i B D = (2,0, —7)iE #s o 5 BERL R 0
PERF o
FREMEL 35 FBT 3 Fho

EFy AL
ANE AR o BEEES A 0 BT A o
15.0ABC? 544 = 47) » H 3 %  $44UAH, BH,CH > % % AABC in#h Fe 1>+

, . AH | BH |, CH ., )
IQ—'\!:'A,)B’;C ° -‘j\m + W + Wmf’"y |—€i o

AR
S ONHEMAL KA A H T A
Re(z™) —Im(z")
Im(z™) Re(z")
1R 2 SRR UCORTCORERE S Saiu SO0 SiK
R AR S
#or T BRI

16. % 4EHA = [2 —/1#]_9 Wlz =4 iu e FEP A = -

o BT B PRl o ¢ 1 B B dhde ~ o

% 3/3 F



Bz d s <~ F 112 F& k< FY 58153853
AT L BB % AP oA RS
WL Al Tk R

M EHA % 1~6 3T 44 > £ 7~12 15 163547 A - % 13~ 14454
310 4 -
1. 2. 3, 4. 5.

1. 12. 13. 14. 15.

16. HMAL =7 A

FHEMEIHEETH T I RNES o

B S AN § PR o ¢ 1 o fonin dide » o



Bozd <~ F 112 &8 FY 50> 542 4ExRS
0T BE % e LAY

W FRIEF5

HE/HAEEI % 1~6F 244 > § 7~12 15 16XEHZLT A - % 13~ 14315

310 A -
1. 4~ 2. 4 & 3. 4~ 4. 4 » 5. 4%
(E) (B) x=2-3i c2n 0.3 < P(B)
g <08
x =-3+2i
6. 4x» 7. T~ 8. 33,10 ~ 9. 33,10~ |10. 7~
A=15 (A) (A) (C) (D) (B) (C) (E) a=3
B=-1
1. 7% 12. 7% 13. 7~ 4. 7% 15. 7%
2 700 16_7'[ =S E
105 2

16. HM AL T A o

FHEMEAHEEER T E R A

LG EERRT § PR P L Fonin g r o


Mobile User


